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Construct a truth table for the following compound statemen
statements are tautologies, self-contradictions, or neither.
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Determine whether the statement is an implication by constriicting a truth table.
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Determine which statements are equivalent by constructing & truth table.

6. p—>qand~pVgq

-1\ n4

e




7. p—=qandq

!
=
S
55

8. p—qgand~q - ~p

nat ‘zctul\)a\aw-\-

—

/

g e

>

~
-~
Pl

L YR

Equvivalant

9. ~p—>q)andp A ~
/
s f2quslnt
* i
/
el P o

Ny
45
ey

\

N ol
TmTnHn
"\‘n""p

et



Use De Morgan'’s Laws to Determine whether the following statements are equivalent.

Do not use Truth Tables.
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15. What is your name? —_—
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